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Writing Equations of Lines Review for Quiz

Period
~——A,-Write the-slope-intercept-form-of the equation-of each line given-the slope and-y-intercepts 55-mi+b
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B. Write the point-slope form of the equation of the line through the given point with the given slope
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D. Write the point-slope formjof the equation of the line through t)l(1e given pomts \C) -~ N (X %\
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F. Write the slope-intercept form of the equation of each line. d \S\f \b} SO‘NQ 'EW 6 Sl

K. Write the slope-mtercept formgf the equatlon of the Ime through the given point with the given slope.
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L. Write the s!ope-mtercept form of the equation of the line through the given points. -Rf\& 5\
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M. Write the equation of each line.
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i‘}.- Write the slope-intercept form of the equation of the line deseribed.
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U. Write the standard form of the equatlon of each lm:) given the slope and y-intercept. no @r &O\’ (045
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V. Write the standard form of the equation of the line thg)ugh the given point with the given slope.
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X. Write the standard form of the equation of the line through the given points. $ mA N \DYQ
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Y. Write the standard form of the equation of the line described. POint- SIOPQ, M
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HORIZONTAL & VERTICAL LINES: Write the equation of the line through the given points.

39) through (-3, 4) and (1, 4) . 40) through: (2, 4) and (2 3)
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HORIZONTAL & VERTICAL LINES: Write the equation of theline
41) through: (-3, 3), %to y=0 42) through (—4 0) arallel to x=0
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